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1. fef el @ Rt (W) A a-wl W 6. TE1 B wh1 ¥ Wy giRm Him ik

vl foraeh! 3afeafa 1 Haha #tar 37 gl % FR Ry 1 Fe 1w W wd@ IW
(o) TorEll wEaTY) % et TG EGLE
foreft ey % et Wet
¥ Y ;a{ v i I -1
(© b e (@) (3warm)
(d) ol % aEenes
A. 9RF 3 1. gferieht (TRaAfR)
2. Tl 1 BH-H G FHITRES T STl 87 B. fafew sma 2. @ IfeEs (Fe
(@ H 3 3H Trerfea)
(b) H 3 2H C. Hifirem Teglamse 3. wiv-ara (Ffe)
D. %
© ¢ s e e e 4. =R (frpet)
(d) JgAr 3R 30Ca %
TN R - T S
3. Fr=fafaa & @ - et afifmn dE 1 2 3 4
& =7
(a) Fe+CuSO, — FeSO, +Cu () ‘:‘ ? g 4D
(b) Zn+CuSO, — ZnSO, +Cu
() Cu+PbCl, —CuCl, +Pb R, SO I o
(d) Mg+CuSO, — MgSO, +Cu 4 3 2 1
4. Y& % SR pH arer faeaa g @ (@) «: 2B g 113
(@) Fates aiig e
(b) Al ey faew
(c) T sefta o 7. @R a0l w1 9% o, Rl wf w5 e (R=)
(d) e faeaA fruiia g1 &, a8 § w@f w16
5. AH4d smeE #, Fe=fafas § @ f9-w o (@) S
I BT &7
(@) i 3 (b) =A™
(b) GEHRH I+ o o
(c) i 3
(d) TESEAING A=A (d) g
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1. Scattering of o-particles by a thin gold
foil suggests the presence of

(@)
(b)
(c)

(d)

2. The

electron in an atom
proton in an atom

positively charged nucleus at the
centre of an atom

isotopes of gold

elements of which of the following

pairs are isobars?

(@)
(b)
(c)
(d)

1 3
1H and 1H
|H and ?H
12 14
6C and 6C

40 40
18 Ar and 20Ca

3. Which one of the following chemical
reactions is not feasible?

(@)
(b)
(c)
(@)

Fe + CuSO, — FeSO4 + Cu
Zn +CuS0O4 — ZnS04 + Cu
Cu+PbCl, - CuCl, + Pb
Mg+ CuSO, —» MgSO, + Cu

4. A solution having pH equal to zero is
known as

(@)
(b)
(c)
(d)

highly alkaline solution
highly acidic solution
weakly acidic solution

neutral solution

5. Which one of the following acids is

produced in human stomach?

(@)
(b)
(c)
(d)

Formic acid
Sulphuric acid
Nitric acid

Hydrochloric acid
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6. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-IT
(Compound) (Use)
A. Boric acid 1. Antiseptic
B. Citric acid 2. Food

preservative
C. Magnesium 3. Antacid
hydroxide
D. Acetic acid 4. Pickle
Code :
(@ A B C D

1 2 3 4
(b) A B C D

1 3 2 4
fc) A B C D

4 3 2 1
(d A B C D

7. The property of the sound waves that
determines the pitch of the sound is its

(a)
(b)
(c)
(d)

frequency
amplitude
wavelength

intensity

[ P.T.O.




8. fafafaa § & FR-w1 v 7o X-Ron =1 7@

?7

(@) 2 Togga &= | @l & s 81

(b) A g gEt | faafa 7 | )

() 7= () 4 h Ju TR AYH
(3=) B R

(d) ¥ TEHI hl G A T e agd
+4 (B1) Bl B

9. UH UHAWl UV g1 ¢ ¢ faferd % WR H,

Freafafas § @ F-w1 w adt 7=t 27

(@) TEH HR TE B @ S FA-IE F
Bl 21

(b) I® WHfa ¥4 ¥ Fowha (fefa/
ESCORCIR]

(c) I aTEafeen wfafers gran B

(d) J& <9u & 9B f AR I & W W
a1 & el @ agg <dor % gma A
Rl

10. Tt ufiesfi (Iferm) # < v <dv W@ 99

7

(@) TH-FE S GHHIR

(b) TH-TE & TEq

(c) TH-E & I 60° T HIv 114 §Y
(d) TH-E F WI 45° FH HV A0 5T

11. 3f¢ ag § o i 7fq (I@) 3x108 m/s

?, @ o @ mem e swadas 3 R, A
T <Y i = B e

(@) 2x108 m/s
(b) %XIOS m /s
(c) —g-xlos m/s

(d) 3x108 m/s
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12

13

14

15.

16.

frfefaa § ¥ e vr ¥ Rl & qoe
=[ad il 87

(a) e am

(b) T FHT

(c) T /FHFRE (ATgo HRo)

(d) ST /SegEreR (o o)

fordt A (f8m) & oo T k6l 39618 @
(@ N-m (b)) N/m
() N-m?2 (d) N/m?2

Frafafaa # ¥ F9-91 0 wemrl (W )
& R?
(a) T (Fiewrr)
(b) TARE
(c) =k
(d) wefta (vefiue)

frefifaa & ¥ fra it (shae) =1 523 B
(sft-aard 72) B &7
(@) THifaNEH
(b) Eemht (V@)
(c) IR
(d) "E (A <fie)

gredl § ifies W9 ¥ dRE gEelt & gd

rgn Frefefaa & & SF-a1 g #7

(@ WY (FHR), YO HF A, WO,
Fo=m (Itn), gmas &1 fausE

(b) ¥ N A, D, W/, feeE, g
&1 favreE

(c) T, Fi=A, g # faweE, yo -
o1, Y

(@ 94, O F T, FEAS w1 A,
e, A=




8. Which one of the following is not a
property of the X-rays?

(a) They are deflected by electric fields.

(b) They are not deflected by magnetic
fields.

(c) They have high penetration length
in matter.

(d) Their wavelength is much smaller

than that of visible light.

9. Which one of the following is not true
about the image formed by a plane
mirror?

(a) Itis of the same size as the subject.

(b) 1t is laterally inverted.

(c) It is real image.

(d) It is formed as far behind the

mirror as the object is in front.

10. In a periscope, the two plane mirrors

are kept

(a) parallel to each other

(b) perpendicular to each other

(c) atan angle of 60° with each other

(d) at an angle of 45° with each other

11. If the speed of light in air is 3x10% m/s,

then the speed of light in a medium of
refractive index % is

(@ 2x108 m/s
(b) 2x10% m/s
(c) 3x10%® m/s

(d) 3x10%8 m/s
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12,

13.

14.

15.

16.

Which one of the following types of
radiation has the shortest wavelength?
(a) Radio waves
(b) Visible light
(c) Infrared (IR)

(d) Ultraviolet (UV)

The unit of the force constant k of a
spring is
(a) N-m
(c) N-m?2

(b) N/m
(d) N/rn2
Which one of the following is not an
epidemic disease?
(a) Cholera
(b) Malaria
(c) Smallpox
(d) Elephantiasis
Which one of the following animals has a
three-chambered heart?
(a) Scoliodon
(b) Salamander
(c) Pigeon
(d) Human being
Which one of the following is the correct

sequence
reproduction in plants?

of events during sexual

(a) Seedling, formation of embryo,
pollination, fertilization, division of
zygote

(bp) Formation of embryo, seedling,
pollination, fertilization, division of
zygote

(c) Pollination, fertilization, division of

zygote, formation of embryo,
seedling

(d) Seedling, formation of embryo,
division of zygote, pollination,
fertilization

[ P.T.O.



17. V& UF Wac, s 93 &1 9 &), d g @ 21. G-I ® gA-11 F w9 gafea il ik

G will Sl ® (R A w1 ww@E), 99 93w it % R iy T e w1 v woad W
ot gftrn (frehl) & s ?1 YRR 9T :
Iufedfa % Hwor gar 27
(@) eaTSy -1 ge-11
; (=) (7=)
(b) HTadISH
¢ A. fotse 9o (scfifem 1. NaHCO,
(c) e SI3ATHATES o)
(@) I AHTFETES B. @R F: @re1 (3fFT 2. Na,CO; -10H,0
Hrer)
18. HEFE whEmst & fm ‘et gm (ol C. 91 = drel (@fm 3. Ca(OH),
Hd) Frefafaa § ¥ 6 e 87 rE)
(@) TS D. I 83 1 (¥9e 4. CaOCl,
(b) To Fo o i
(c) To Elo dio ®e:
(d) e 3T R O T e
R RN
19. UeA-&3 ® ¥eH ¥ Wiy fem 9 wwen o B Si IS
g el # @ S9-w 27 S e BB
R Waale R iRl
. e 3.3 B 5.4
oMo (@P-AC B e LD
(c) A T
(d) e
22. fFed T R F fou S o & T A9 F
20. WEeA! T 1 T A, S R e gaw WY S T I F e R wen e ad
1 UF yg@ we v, fhud W g9 58 R0 &7
(a) e () (a) 2
(b) WfETw TS (b) 4
(c) HH (c) 5
(@) egfhtam (d 6
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17. When air is blown from mouth into a 21. Match List-I with List-II and select the
test tube containing limewater, the correct answer using the code given
limewater turns milky. This is due to below the Lists :
the presence of

(a) water vapour List-I List-IT
(Name) (Formula)
(b) oxygen
4 A. Bleaching powder 1. NaHCOj4
(c) carbon dioxide
B. Baki d 2N - 10H
(d) carbon monoxide o 5360y 10N0
C. Washing soda 3. Ca(OH),
18. Which one of the following is the ‘energy D Skt 4. CaOCl,
currency’ for cellular processes?
Gl
(a) ucose Cide
(b) ATP
(c) ADP (@) A B 5 D
4 1 2 3
(d) Pyruvic acid
(b) A B C D
19. Which one of the following is the 4 2 1 3
first enzyme to mix with food in the
digestive tract? fc) A B = D
: 3 2 1 4
(a) Trypsin
(b) Cellulose A B0 B
3 I 2 4
(c) Pepsin

(d) Amylase
22. The number of water molecules
associated with copper sulphate

20. Mahatma Gandhi’s Dandi March, a great :
molecule to form crystals is

event in Indian freedom struggle, was
associated with

(@) 2
(a) iron
(b) sodium chloride ¢ b
(c) sulphur fe) S
(d) aluminium (d) 6
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23. =@ F aFqE g1 § Gelt WA W I T 9.

el € ol | | gateng € #, wifs

(@) =G o ATdEE Bar ¥ R Ryew
JATHIATES &9 ST @

(b) T H THIYE HeA eEATFEES F WA
afufra & =), e wEHe s
?

(c) @1 H GeR % |y AGRE Fh =i,
fae wewgs # = wa (FfE) FAh
?

(d) =@ H RIS ATHEEE F Ay e
weh Tidl, e Agee s B

24. 3% w yorel (fepm /Rawem) =1 aonm Hfeaa

F xR au °Cc § y B, A 7% i wd gay R
fa) x=273-y
(b) x=273+y
fej x=173+y
(d x=173-y

25. Tl werd A wfedamsar p fra s (3fie)

sAfireaes At ST Hehdll 87
(a) ohm

(b) ohm/cm

(c) Iohm—cm

(d) ohm-cm?2

26. foga-g=dd a@, S IwWe w9R (e

FfHv) % fore vy A v §,
(@) 31atr fafem

(b) e fafeRor

(o) e o

(d) W TR
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. AHE YR OH g7 R ¥k TR H AN 9

(B I) 3 1w rgeHn Frefefaa § @
HH-4T 87

(@) T (T3T), FEaie, g,
(b) T, TRE, ST, THA
(c) T, qEATIE, TAAFT, TFRE
(d) AT, g, AT, e

28. Ayl H fefafes § @ w9-@ @aE

(GSE) T, gm () F w9 § T8 TR
S 27

(@) Hfegs (@)
(b) Ry (freged)
(c) T (fH)

(d) e ()

20 ffafes & @ frm <fimm o &

Ho TWo Yo &rar 87

(@) Tiesh I (esh ARH)

(b) WTEEHI~gEA

(c) ATEEEM

(d) Fag=ht sferen (TEieentees Weagem)

30. 7 @ Tru awfe 3 fafee f ghan &

fcRe (FRATESNA) I HeheudT WEga 7
(@) TEIE SR

(b) Ve &9

(c) T TF

(d) e fifEE




23. Silver articles become black after some
time when exposed to air because

(a) silver gets oxidized to silver oxide

(b) silver reacts with moist carbon
dioxide in the air to form silver
carbonate

(c) silver reacts with sulphur in the air
to form a coating of silver sulphide

(d) silver reacts with nitrogen oxides in
the air to form silver nitrate

24. If x is the temperature of a system in
Kelvin and y is the temperature of the
system in °C, then the correct relation
between them is

(@ x=273-y
(b) x=273+y
fc) x=173+y
(d x=173-y
25. The resistivity p of a material may be
expressed in units of
(a) ohm
(b) ohm/cm
(c) ohm-cm

(d) ohm-cm?

26. The electromagnetic waves, which are
used for satellite communication, are

(a) infrared radiations
(b) ultraviolet radiations
(c) radio waves

(d) visible lights
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27. Which one of the fbllowing is the correct
sequence of organs that occur in the
path of urine flow in human body?

(a) Kidney, ureter, urinary bladder,

urethra
»

(b) Kidney, urinary bladder, ureter,
urethra

(c) Kidney, ureter, urethra, urinary
bladder

(d) Urinary bladder, kidney, urethra,
ureter

28. Which of the following endocrine glands
is not found in pair in humans?

(a) Adrenal

(b) Pituitary
(c) Testis
(d) Ovary

29. Which one of the following cell organelles
contains DNA?

(a) Golgi apparatus
(b) Mitochondrion
(c) Lysosome

(d) Endoplasmic reticulum

30. Who among the following scientists
introduced the concept of immunization
to the medical world?

(a) Edward Jenner
(b) Robert Koch
(c) Robert Hooke

(d) Carl Linnaeus

[ P.T.O.



31. frfafles & @ frw «idm R #
31 femwr, 1929 % &7 i @ i Swon
& g off?
(a) FEHRTETG
(b) el

(c) WRR

(d) &S

32. Ffafaa # 4 fea sifufam & aga faurieat
% gfgenedl & fow @2 amfdm & €, s fafim
TErEl % fore @Sl % e & arge off?

(@) ¥Ra W&R AfufEm, 1858
(b) ¥ ufteg fafEm, 1909

(c) ¥ia §R sfufEm, 1919

(d) ¥a TR Afufm, 1935

33. =¥ 1931 # 91 ¥ gu ARaw wRd™ afda i
g weH (3T sfe fedre somw ofied
FHE) g Frafefaa § @ ¥9-@ 9t @
TS off?

(@) WENTHF T3 HaTiteR
(b) Tl & g srem frate-am
(c) IFIeaEEH % forg amfda de

(d) Ra ¥ T Uk (THTEE) T
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34. ¥ ¥ = sfegm QEEd iw Nz e %

TR H A 77
(@) =AY SN
(b) TG TR
(c) TREHMY R

(d) <fFm =% FEHEE

35. ¥ ¥ 9 geam ¥ geH-u-faeermh i

(F7a) B dret iR fomme + § gof w9 @
Hherd e 7

(@) egata

(b) wEEH
(c) g faersht

(d) qEwe fom g

36. 3 A frg Wi Aa1/FH1et A YRG T AHAY

FA F forg fory 7t o =t e
(@) =S @H

(b) TR

(c) 3=gg

(d) FAFT TSI




31. On 31st December, 1929, in which one
of the following Congress Sessions was
proclamation of Purna Swaraj made?
{(a) Ahmedabad
(b) Calcutta

(c) Lahore

(d) Lucknow

32. Which one of the following Acts reserved
seats for women in Legislatures in
accordance with the allocation of seats
for different communities?

(@) The Government of India Act, 1858
(b) The Indian Councils Act, 1909

(c) The Government of India Act, 1919

(d) The Government of India Act, 1935

33. Which one among the following was
demanded by the All India Depressed
Classes Leaders’ Conference at Bombay
in 19317
(a) Universal adult suffrage

(b) Separate electorates for
untouchables

(c) Reserved seats for the minorities

(d) A unitary State in India
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34. Who among the following was one of the
founders of the Indian Society of
Oriental Art?

(a) Rabindranath Tagore
(b) Abanindranath Tagore
(c) Dwarakanath Tagore
: (d) Bankim Chandra Chattopadhyaya
35. Who among the following Sultans
succeeded in finally breaking and

destroying the power of Turkan-i-
Chihalgani?

(@) Iltutmish

(b) Balban

(¢) Alauddin Khalji

(d) Muhammad bin Tughluq
36. Who among the

leaders/commanders
Indus to attack India?

following Mongol
did not cross

(a) Chenghiz Khan

(b) Tair Bahadur

(c) Abdullah

(d) Qutlugh Khwaja

[ P.T.O.




37. ufgwfes vz ¥ ¢off 72 & &3 ¥ vda A R

HR ATl 3 AR YoH 91 B FT FE S
27

(a) Torgs

(b) =

(c) ftae ga (siisi)
(@) Tem s (sfed)

38. fafy swenfa yea: el rd st 7

(@ eaH IR FEr
(b) STRUTEA Y

(c) a3

(d) HHR ur

39. W& & &7 4, F=faRea # ¥ fva wweda w9

F TH T FAE AR (F Rz A aedy)’
el ST 87

(a) JEH
(b) diEm SIS
(c) AIH

(d) TSRIH

40. FheEim i ¥ wf v 8w & @il B ven A

1 gl ST 27

(@) FfN =T

(b) FFOT TS

(c) wRfFaTRs (Refme i) e
(d) fF e
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41. frafafga § @ S¥9-@ 7 DY e o &
orerdt 27

(@) <=d
(b) WM
(c) SaE
(d) ¥

42. Fefafea # ¥ F9-w & Tty F/ F1 wHr
et 27

(@) < F

(b) S @t (I wifi)
(c) TRIEA & (WRHTe)
(d) e Fate Hf

43. F=fafea & & ¥F-w1 @ -3 o T
?7

(@)

(b) =R A

(c) 39 yif (wiwia wf)
(d) FW (SR) 3R =79 oy

44, WM (MGNREGA) %1 3% fiefefas # A
HH-H1 T TE R7

(@ & foxim af § 100 Al 7% =1 $w
LR HERETT] |

(b) 3cuTes gftgafEt 1 gem (o)
(c) St Ffdaar = sgmn
(d) wigen gufwe ® gRfda we

12




37. In the region of eastern shore of Adriatic 41. Which one of the following rivers joins
Sea, a cold and dry wind blowing down Ganga directly?
from the mountain is known as

(a) Chambal
(a) Mistral
(b) Son
(b) Bora
(c) Betwa
(c) Bise
(d) Ken
(d) Blizzard
42. Which one of the following is not a type
38. Nyishi tribe is found mainly in of commercial agriculture?
(aq) Andaman and Nicobar (a) Dairy farming
(b) Arunachal Pradesh (b) Grain farming
(c) Nilgiri-Kerala (c) Livestock ranching
(d) Kashmir Valley (d) Intensive subsistence agriculture
39. In the field of tourism, which one of the 43. Which one of the following is not a land
following Indian States is described as use category?

‘One State Many Worlds’?
(a) Forestland

(a) Assam
(b) Pasture land
(b) West Bengal
(c) Marginal land
() Karnataka
(d) Barren and wasteland

(d) Rajasthan

44. Which one of the following is not an
40. The number of people per unit area of objective of the MGNREGA?

arable land is termed as
(a) Providing up to 100 days of skilled

(a) agricultural density labour in a financial year

(b) arithmetic density (b) Creation of productive assets

(c) physiological density (¢) Enhancing livelihood security

(d) economic density (d) Ensuring empowerment to women
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45. YuEal i wEvTel % g9y #, Fefafeg § @ 48, VM, S WRd WHR Hl THF e B,

HI-91 B F&l TE 87 frafafiaa & @ fre &9 @ Hafua 27
TgEd w, , ARt £ .
i W@maﬁ??j‘m (ﬁﬁﬁn)ﬁﬁm (a) T IR (Fe) T s e
& (b) T SRER H e R ¥ R ww
(b) TH AR S 25 99 H B T R, T U WeH F=AT
Ygd 1 929 594 & fog 9= gy
(c) WF TEEd AU Ugelt d3H (®w1) Hi () e o o W weRrh (W)
fofsr & gmrgaa 9f9 @9 9% 9@ ®@ g
bl Bl

(d) W& YUTEAT Y AT
(d) TF U=EE W EmiiE foges ¥ W

Tife S 2, ' o s ¥

3 H T S T w2 49, ‘Sqe THIW (FEvH) w1 ey Fefafaa 8 @
frus wftge wwEl ¥ w9 F @R ik
46. YA WHR R o9 IRY § wa 7 dee wferor Y e e R7
Fr=afafaa 3 @ SF-d 87
@ @ AR (@) GaEATH EE
(b) WUTHHA U TSH TS (b) T (Waq) Sfee yguF (POPs)

(c) WiEe et T Al
(c) IR (=)
(d) AT ST ATHIOT HIeT FISHT
(d) WA AR drgshaneht (shemnss)
47. §8 HeH WA &3 fa%m g1 (MPLADS)
F fowg A Fafafaa & @ F9-T1 s99 @@

T @ 50. WRd # #fensi % waww (WD) F R
(@) F8 A % TEG FET B GEE GG R, (afea BR) =1 g W o Frefefea § @
wraifEa it g w@ ¥ a1 37
(b) TEE % WAFG Wew W W wd o (@) AT
wrffad fhy s™ % forg wml A dggf
X EHA B () R
(c) F& A WRA GR g Piaar fifteg
2l (c) Taam

(d) ufa Gue gew aiffs gherl €5 =S 8| (d) =FaEE (F)
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45. Which one of the following statements 48. Saubhagya, a Government of India

with regard to the functioning of the Scheme, relates to which of the
Panchayats is not correct? following areas?
(a) Panchayats may levy, collect and

appropriate taxes, duties, tolls, etc. (a) Achieving universal household
(b) A person who has attained the age electrification

of 25 years will be eligible to be a

member of a Panchayat. (b) Providing clean cooking fuel to

(c) Every Panchayat shall ordinarily poor households

continue for five years from the

date of its first meeting. (c) Rationalizing subsidies on LPG
(d) A Panchayat reconstituted after

premature dissolution shall

continue only for the remainder of

the full period.

(d) Stopping female foeticide

49, The Basel Convention’ is aimed at
protecting human health and
environment against adverse effects of
which of the following?

46. Which one of the following is the earliest
launched scheme of the Government
of India?

(a) Deendayal Antyodaya Yojana

(b) Pradhan Mantri Gram Sadak (a) Hazardous wastes

Yojana
fc) Saansad Adarsh Gram Yojana (b) Persistent Organic Pollutants
(d) Deendayal Upadhyaya Grameen (POPs)

Kaushalya Yojana

M
47. Which of the following statements is not 0 Megcusy

correct regarding the Members of : i
Parliament Local Area Development i Chegiiowenyind pesticidcs
Scheme (MPLADS)?

(a) Members of the Parliament (MPs)
sanction, execute and complete
works under the scheme.

(b) Nominated Members of the
Parliament can recommend works
for implementation anywhere in the
country.

() The scheme is fully funded by the
Government of India.

50. Which one of the following is the biggest
cause of incidence of migration of
female persons in India?

(a) Employment
(b) Education
(c) Marriage

(d) The annual entitlement per MP is

¥ 5 crore. (d) Business
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51. W & (V) ¥ an #, Frafafea & & F9-m

TF Hal E 8!

(@) I8 FoUEfy O (HEEEE dH) W
A 9% (ITA 9%) T UG =T
Rl _
8 HoUEY FOEEY [EEEe SRS
(3urdl)) W anforfes et g R T
EIEka ]

78 et ot o ok =9 &% &
ofre w0 wfaer # wend =™ & R

7z "uifds wfovfa (Regfdl) 6 e
(@d) B

(b)

(c)

(d)

52. 9%l fd g (%o fod W) R fAfde

Al 87

(@ Te@ (F2) #@in iR mEfus Fehal
(FFarsdl) 1 W S W gREe F w9
# Skt 1 sk T@A (FHTEHT) BT ®
Fraa =i ik emafus FEifEl = W
S 3Re #flo Ao F YW WY (W) H
w9 # FHi F b W@ B @

fre@ wfn MR emaftes FEfE = 3w
ST Sl B I el el & Rl ¥
H ek TET B B

(d) el aif@ Ui o1 9 F i & Wiy
g

(b)

(c)

53. dwmE #, I fAef st # ue Y, gefag @

TSt ® a”T SH1 A& F G 45° H R

At ® 3R T® TEn R o R R Y ¥

Y-y (FIHIR) X =Y &, O 310 &9 @

1 74 forn 'Y

(@) <1 it (WR) e wen

(b) A iEd TR T (IfR) # )

(c) ¥ oftadi srem-srem () smEal §
gl

(d) FH-8-F9 TF IREdl T Y& T R
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54

55

56.

57.

16

BH Feala HaE, 2019 F WEAAT T
Raeret geehr 71 @ fod i gan?

(a) THiEEm taee!
(b) IR I &=
(c) foame ot
(@) <t

Taamr 2019 ¥, F=fafaa & 4 frg 9 29=
Ut 319R-219 = Raferan wifva fEn?

(@) TFgdifEn

(b) Hiaa Te o

(c) THo 3o Fo Hio
(d) 9E T

21 g, T FReiR qgfeor gfigaa s g«
€ 8 wuEr A off, wEl i © aeh 87

(@) e
(b) S
(c) o Tho To
(d) HATEl

T @ wrdg fod § 3, ypea § B AR
# ey F oy, e T A e 9o &
Graaweh! gR g f e frr s m w
yoey e §7

(@)
(b)
(c)
(d)

$euse 9%

e o

G U8 HERTg HiATeT S
Ry 3T 9%




51. Which one of the following is not correct
about Repo rate?

(a) Itis the interest rate charged by the
Central Bank on overnight loan.

(b) It is the interest rate paid by the
commercial banks on overnight
borrowing.

(c) It is the interest rate agreed upon
in the loan contract between a
commercial bank and the Central
Bank.

(d) Itis the cost of collateral security.

52. The Cash Reserve Ratio refers to

(a) the share of Net Demand and Time
Liabilities that banks have to hold
as liquid assets

(b) the share of Net Demand and Time
Liabilities that banks have to hold
as balances with the RBI

(c) the share of Net Demand and Time
Liabilities that banks have to hold
as part of their cash reserves

(d) the ratio of cash holding to reserves
of banks

53. In economics, if a diagram has a line
passing through the origin and has
45° angle with either axis and it is
asserted that along the line X =Y, what
is tacitly assumed?

(a) Both variables are pure numbers.
(b) Both variables are in the same unit.

(c) Both variables are in different
units.

(d) At least one variable is a pure
number.

PLKI-S-GNL/58A

54. Who among the following won the Best

Men’s Player Award of FIFA Football
Awards, 2019?

(a) Cristiano Ronaldo
(b) Virgil van Dijk
(c) Lionel Messi

(d) Xavi

55. In September 2019, which one of the

following travel giants declared itself
bankrupt?

(a) Expedia

(b) Cox & Kings
(c) SOTC

(d) Thomas Cook

56. Greta Thunberg, a teenaged environment
activist who was in news recently,
hails from

(@) Sweden
(b) Germany
(c) USA

(d) Canada

57. Recently the Reserve Bank of India
has imposed limitations, initially for
a period of six months, on the
withdrawal of amount by account
holders of which one of the following
banks?

(a) Indusind Bank
(b) Dhanlaxmi Bank

(¢) Punjab and Maharashtra
Cooperative Bank

(d) South Indian Bank
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58. @M w=F wI T € A yidf¥a <@ GRe 61. F=fafad § ¥ Fa-w1 = gm wd gafera =&

HIeh TEER Yo R T = @ e T ??
TEHR ol gg 9 on? ;
(@) HEHE-F : wediel SSR
(a) AR R
(b) e T () J N
(c) HreE A (c) W e
(d) e (@) e P e
59. wftre gre fo, fored siehii <1 awifae (wwd)
T TR 7o =1 7T @G g Q90T T g, 62. Fr=faflaa # & ®H-8 WE® AGAHEl (A F
T ¥ Fore e feser grr smmn T ot 1 A 71 BT e ) A gEER S 37
(@) = IA-THE (@ TG
(b) AL TEHA
% e (b) Tufyen & frz
(@) fawmera (c) Ho
60, ‘gre TR’ YOreh (sn) % ik 4, Pt o iy

H Q-2 FYT e 87

1L W 9w A () § e 63. “Tuda’ ¥ whra TEEE ¥ ar A, Ffifad §

6 fufa 3fr 38 3aa =1 g9 91 PPN £
2. ‘war’ 9g g3HaARl fl IW €& F TEE
o1 ¥ AIEEER ) @A B ) . (@) I8 T& RIS qoae (fwa) & st @
3. waEdl waed ¥ 1000 wFwEn AR % are-forama 1 wffarars & i v
‘FaR’ UR UWT TE A HAEEERi @ gfE=hIvTl 1 G B B
ET(W)%wﬁwﬁm (b)) & WW-fagH ¥ At fFr ™
TS & S o fomm % w9 # R
o R e gz b v = wd s g
Sk vl (c) ' wiEfes fagm & faftm &9 § fom
i g W R T g3 geums 2|
(b) Fad 1 3R 3 i G
(d) 3T& HIEAH ™ U
il Sas qeure ® 6 w0 s =ife e @ @
(d 1,233 : FET TR
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58. Amitabh Bachchan was recently
conferred with the prestigious Dada
Saheb Phalke Award. Who among the
following was the first recipient of
the award?

(a) Prithviraj Kapoor
(b) Devika Rani
(c) Sohrab Modi

(d) Naushad

59. The famous Mughal painting, depicting
Jahangir embracing the Safavid king
Shah Abbas, was painted by which one
of the following Mughal painters?

(a) Abd al-Samad
(b) Abul Hasan

(c) Dasavant
(d) Bishandas

60. Which of the following statements about
‘Mughal Mansab’ system are correct?

1. ‘Zat’ rank was an indicator of a
Mansabdar’s position in the
imperial hierarchy and the salary of
the Mansabdar.

2. ‘Sawar’ rank indicated the number
of horsemen the Mansabdar was
required to maintain.

3. In the seventeenth century,
Mansabdars holding 1000 or above
‘Sawar’ rank were designated as
nobles (Umara).

Select the correct answer using the code
given below.

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d 1, 2 and 3

PLKI-S-GNL/58A
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61. Which one of the following pairs is not
correctly matched?

(a) Kuddapah-kar : Rocky wastelands

(b) Nancai : Wet fields
(c) Puncai : Dry fields
(d) Tottakal : Garden lands

62. Which of the following rulers were
identified through matronymics (names
derived from that of the mother)?

(a) Mallas of Pava
(b) Videhas of Mithila
{c) Yaudheyas

(d) Satavahanas

63. Which one of the following statements
about the famous text of Panchatantra
is correct?

(a) It is a philosophical text reflecting
the debates of the time and refuting
rival positions.

(b) Itis a text ushering in linguistics as
a formal science.

(c) 1t is a text discussing developments
in various spheres of natural
sciences.

(d It is a text showing through
illustration what should and
should not be done.
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64. UIRY 3R 5ig Hema (faawor) = wsifaa @ 9t 68. ®ecll ¥w ardi wRe #, a1 FW A 3w

¥-3ATH(dh HRH (F2F) & Ffaa: el WA e 27
(a) 9 BT o1 3R IWR (IATE) (@) 3a:3wTRfeaa ifimro &3
(b) T THA R AMEF IUR (b) SregH

(c) @I I, BT ATHfa N I9N
(d) T HIU, BT i IR mafers IuR

(c) FAr IH-TE VA (FIR)

(d) yEeERER it
65. Wl % Frafafea # & feg wgg A gewff sa%
Wi el ATesTeT % &9 § 7E 87 69. Frefafgs # @ fFg zar o s wdf f
FAAfYF A 918 St 27
(a) TTIUEH 3R FY2EA
ECitEI
(b) Tosm 3R udf (@
(c) it WRiew iR e By Treeite
(d) 8 ¥ iR wede (c) Sefrete
(d) wEeEa
66. fmfeiflaa # & wH-w 3901 Wy umd &7
(@) FAREN 3 HaHiar am 70. YaT R & w1 g A, Pefaieaa § @
, Tora /frm aftfefa(at) & garfter 1 waim
(b) I e Auae IR FHE UK Has‘?f/%? ()& i b
(c) e 3R shreen um 1. 3 a9 @ 9Ra & TR &
(d) i v smEr (AR fie Rw) ok 2. 3% am Fates e § s w)
Pidhere TR 3. 91 3eM % fou wia # 3 vy IufRe
7
STeRigi dmd &7
(@ 1,233
(@) 1
) 2 (b) Faw 2 3R 3
(¢ 3 (c) aw 1 3R 2
d) 4 (d) a1
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64. Geomorphic factors influencing plant and
animal distributions are

(a) slope angle and relief only
(b) slope aspect and relative relief

(c)

(d) slope angle,
relative relief

slope angle, slope aspect and relief
slope aspect and

65. Which one of the following groups of
cities does not have Sclerophyll as
its natural vegetation cover?

(a)
(b)
(c)
(d)

Valparaiso and Cape Town
Lisbon and Perth
Los Angeles and Adelaide

Las Vegas and Queensland

66. Which of the following are warm ocean

currents?
(a) Kuroshio and California Current
(b) North Atlantic Drift and Brazil
Current
(c) Canaries and Benguela Current
(d) West Wind Drift and Falkland
Current
67. In India, how many States/Union
Territories have more than two
international boundaries?
(@) 1
(b) 2
() 3
(d) 4
PLKI-S-GNL/58A

68. In the Hadley cell thermal circulation, air

rises up and finally descends at
(@)
(b) doldrums

intertropical convergence zone

(c)

(d) equatorial troughs

subtropical high-pressure cells

69. Which one of the following soils is
characterized by very high content of
organic matter?

(a) Vertisol
(b)
(c)

(@)

Histosol
Gelisol

Spodosol

70. Overseas Indians can exercise franchise
in an election to the Lok Sabha under
which of the following conditions?

1. They must be citizens of India.

2. Their names must figure in the
electoral roll.

3. They must be present in India to
vote.

Select the correct answer using the code
given below,

(@ 1,2 and 3

(b) 2 and 3 only
(c)
(d) 1 only

1 and 2 only

21
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71. FrefoRea & @ ¥9-@ & fvar e
R drT it 7 /7

(@) To7 qfER F @R R g w W
Feram dmn (F9) 78 R)

(b) AT H W HA W IEA F AN AR F
T 39 A wfdfem §)

(c) wh fafrcarem s & o o fifdm
ieed v st soneff B yram e
SmEm |

(d) & A 9 IRER €10 W@ w1 @
AT TEE ! B

72. Fafafas % @ F9-2 999 fem ¥ SR @y
R S &7

g (Freagran), TuEEE, IqEEar 9K
gyiftretar

|1, IcATahal, Tfeheor 3R o
()

Iqreehar, fom, smEeE A grm

A, IeqTEhdl, FHEYE IR g

(a)
(b)

(c)
(d)

73. dfeuR (86af weiww) rfafEm, 2002 ¥
e ¥, fefefen 4 @ e @ 9 @
Fded % ¥ ¥ gftifera fwan man &7

=i iR anfes wfisaa (RBearenem)
H IcpEal % forg e s

6 3 14 o i 7y & fiw I\ =
! e & AW WM FET

ot oi o=t & weam ¥ fore o =
wife 3R w9 ! IgET 3

(a)
- (b)

(c)
(@)
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74. Y & wRum %1 f=fafas § 3 SR-w
IR, IR TR A et =afe i @ w@
??
(@) FIF=2 20
(b) HT=< 21
(c) T3 22
(d) g2 23

75. ¥RA A g I F =R #, Fraffa s w
ﬁ?ﬂ(?ﬁﬁrﬂ;:

1. faftm it =+t weer % ofel % wer iR
Rreufes™ & YR | yg=™= Sa 21

2. fafim il ¥ siw ohemt ¥ wER ok
fireafi & #18 drdfra R 7 1

fafim i 6t wmwwm g d=h Q
IEEY A Uw AP wREE @ |
e i g8

94 § ¥ BH-T1/A O G R/E?
(@) Had 1

(b) Faw 1 3R 2

(c) = 3

(d 1,233

76. Frafafes § & fora fubh (Rregwmen) w3
I 9eR R T Hers (sae) @ 3w fHy
Sa 4 3R fag & faftm wew sfed & 9
ST A7

(@) G 3R TS GeiesAl
(b) TSEIH & Qg

(c) =g vwifeAl

(d) S R gEIRSAT

22




71. Which one of the following is not a
feature of the Ayushman Bharat
Scheme?

(a) There is no cap on family size and

age.
(b) The scheme includes pre- and
post-hospitalization expenses.
(c) A defined transport allowance per

hospitalization will also be paid to
the beneficiary.

(d) The scheme provides a benefit
cover of ¥ 10 lakh per family.

72. Which of the following are considered

to be the four pillars of human

development?

(a) Equity, inclusion, productivity and
empowerment

(b) Equity, productivity, empowerment
and sustainability

(c) Productivity, gender, inclusion and
equity

(d) Labour, productivity, inclusion and

equity

73. Which one of the following was added
as a fundamental duty through the
Constitution (86th Amendment) Act,
20027

(a) To strive towards excellence in

individual and collective activity

(b) To opportunities  for
education to one’s child between

the age of 6 and 14 years

provide

To work for the welfare of women
and children

(c)

(d)

To promote peace and harmony

PLKI-S-GNL/S8A

74. Which one of the following Articles of the
Constitution of India protects a person
against double jeopardy?

(@)
(b)
(c)
(@)

Article 20
Article 21
Article 22
Article 23

75. Consider the following statements about
Stone Age in India :

1. Different periods are identified
on the basis of the type and
technology of stone tools.

2. There are no regional variations in
the type and technology of tools in
different periods.

3. Stone Age cultures of different
periods evolved uniformly in a neat
unilinear fashion all over the
subcontinent.

Which of the statements given above
is/are correct?

(@)
(b) 1 and 2 only

1 only

(c) 3 only
(d 1,2 and 3

76. From which one of the following factory
sites were limestone and chert blades
mass produced and sent to various
Harappan settlements in Sindh?

(@)
(b)
(c)
(@)

Sukkur and Rohri Hills
Khetri in Rajasthan
Chagai Hills

Hills of Baluchistan

23

[ P.T.O.




77. ¥fd ‘RER-s@-goefa’ st wwh oW gg,
1757 &1 9viR &l B, fras g Rt wh
27

(@) Q=G S
(b) HRE @
(c) T g8
(d) TH HEA ™

78. ¥ 98 gHFd1 °1 7% 1836 # wrdr W=y i
e R wwifa F o whee @aw’ =@
afrpegn (fesmga) o7

(@) @€ HAfhere
(b) @TE qTHEA
(o) < Ffm

(d) AT g0

79. ‘TeEEItHT By < waTo fRad g ) T off?
(@) =AY IR AT 1839 F
(b) H¥E TF ¥ g 1857 &
(c) A&F FHR 39§ 1850 H
(d) TREHMTY S g 1840 |

so.ma?r{z;omoq‘:%aﬁawﬁwgq
-8 &= s # w2 W R m
17

(@) Téw fosm (wm Zrems)

(b) weft fovm (Tferdhe Zr3es)

(c) = fowE (IFm Fgens)

(d) TE@ (e ) foem (amgea ZrgeE)
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81.

82.

83.

84.

85.

249

AR T H T A Iewa 27
(a) Tafeam

(b) <R

(c) IFUTESA Teu

(d) TS

924 ¥FHRHI EIE (JEEA) F wddw
HRgE Frew fhen it Ioft F o vwa 6
sfeerTit wfafd fefafaa 3§ @ S=-d 7

(@) ‘Faga & &

(b)) GR SrTaq’

(c) ‘it &

@ ‘TR AR

T bR 37are frass g fan s 27

(a) T T2 e fzw wEdvm
(b) YATEE AN TEAENE T
(c) FAT TFA ATH Aspie

(d) o€ Hifesihaiere AR

‘Tiieft Hrer urh’ el e 27
(@) A

(b) ATEE

(c) Tomg

(d) q&EA

fFefafes & @ 9 onfem # v W

O % w9 F v, S faa: s &
T 39w Y TG 1w

(@ %=
(b) wfEm
(c) gameh (geffisr)

(d) ==




77. The work Siyar-ul-Mutakherin, which 81. ‘Naropa’ is an annual festival of
describes the Battle of Plassey, 1757,

(a) Sikkim
was written by
(b) Ladakh
(a) Salabat Jung (¢) Arunachal Pradesh
(b) Qasim Khan (d) Nagaland
(¢) Ghulam Husain 82. Which one of the following is India’s

official entry for the Best International
Feature Film category in the
92nd Academy Awards?
78. Who believed that the Russian designs (a) Bulbul Can Sing
were ‘an imminent peril to the security
and tranquility’ of the Indian Empire
in 18367 L
(d) And The Oscar Goes To

(d) Ram Mohan Roy

(b) Super Deluxe

(a@) Lord Auckland
83. The Global Goalkeeper Award is given by

(@) the Bill and Melinda Gates

(b) Lord Palmerston

(c) Lord Canning Foundation
(d) Alexander Burnes (b) the United Nations Environment
Programme
79. The ‘Tattvabodhini  Sabha’  was fol s riia: KelloggiSuboal of Mapagcment
established by (d) the World Meteorological Organi-

zation
(a) Devendranath Tagore in 1839

84. ‘Gandhi Solar Park’ is located at

(a) New York
(c) Akshay Kumar Datta in 1850 (b) Vladivostok

(b) Keshab Chandra Sen in 1857

(d) Dwarakanath Tagore in 1840 () Thimphu
(d) Houston

80. What was the code name given to the 85. Who
first ever tri-service military exercise
between India and USA?

among the following was the first
to arrive in Africa as traders that
eventually led to European colonization

(@) Lion Triumph of Africa?

a) French
(b) Elephant Triumph (@

(b) Spanish
(c) Tiger Triumph (c) Portuguese
(d) Bison Triumph (d) Dutch
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86. wicw 16 fuferel Shfaim, ifs sawr@me 89. fi=feifiad & & #-wt sy ol Foik 6 wya

e ghafid @ dag 2, waf o 27 w1 T *7
(@) % g (@) 3
(b) e i
(c) I
) (d) =g
(@ T
90. Wed TR & w2 Wi # F=foiRas § @ frm
87. T shem Rifte (o e Teio)  waw 4, g . b
frrferfaa # @ Bm-w1/3 w97 wd /%7 (@) FRA-FAT ($81-3Rfrem)
1. o 3Mgo Teo N GEATA Frerwwam i ~ (b) HR-fees (wre-fossa)
2 (c) AR
2 WOWOWOSQW-%%%W d) eeEH
BT & S 9RE ¥ i widy asat § S s
wE o1 frfifem # A Fru wmew W W
3. o mOmo’ﬁ%%ﬁWﬁﬂa@?@f glo o IRo rarea TR 30 o W a1 T
PRI IeqTeH o R o 5 g Wi siftm U’ ¥ w9 § e
1 fog T g 1 T R IR SR e
FT=De 35
(@ Fad 1 o 4
(b) T2 359
(b) Fad 1 3R 3 () =z 356
(c) et 2 3R 3 (d) =T 368
(d 1,23R3

92. IT=WT 32 F ?HfiH I=aw e Y IUR
W TEd % I 71 o= wepen B7

88. 7w A A fr=fafad # ¥ Fm-w1 ey wEwR (@ =@ =fe & 7= (W) A A

T IY9R (I9F) 91 G B

(a) 39gTA (39-31HRe) (b) T fafia audt ) sitg H 9 SRk
(b) MAHEEFITE I TEE ey (c) ?ﬁﬁmsﬂq@mmﬁmqﬁgm
w3 (@ % T 3 % T (R) W
(d) TR FRTEI Sy sy WA wyfaa fe & forg win adf 6 &
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86. The College of Military Engineering 89. Which one of the following is not among

affiliated to Jawaharlal Nehru the principal languages of Jammu and
University is situated at Kashmir?
(@) New Delhi (@) Urdu
(b) Gujari
(b) Dehradun
(c) Koshur
(c) Nainital (d) Monpa
(d) Pune : Sl
90. The major part of Central Asia is
dominated by which one of the following
87. Which of the following statements with language families?
:ega;d to Coal India Limited (CIL) is/are (@) Indo-European
ruer

(b) Sino-Tibetan
1. CIL has its headquarters at

Kolkata. (c) Austric
2. CIL operates through 82 mining e Awic
areas spread over twenty provincial 91. Which one of the following Articles was
States of India. defended by Dr. B. R. Ambedkar on the
3. CIL is the single largest coal- plea that it would be used as ‘a matter
producing company in the world. of last resort’?

Select the correct answer using the code (a) 'Asticle 352
given below. (b) Article 359

(c) Article 356
(d) Article 368

(a) 1 only

(b) 1 and 3 only

92, What is the ground on which the
(c) 2 and 3 only Supreme Court can refuse relief under
(@ 1,2 and 3 Article 327

(a) The aggrieved person can get

! : remedy from another court
88. Which one of the following climatic types it e

is found in Central Spain? (b) That disputed facts have to be

gt investigated
(@) Subarctic () That no fundamental right has

(b) Mediterranean dry hot summer been infringed

(c) Subtropical Steppe (d) That the petitioner has not asked
for the proper writ applicable to

(d) Humid continental warm summer his/her case
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93. ¥l 3 AR % Ig HEeE Y e
T 87

(@ @ 3 fasm we sEm siR otafe
TR FaeA fasm

(b) @& ITq favym w§ s@m v sraRes
IR GadA fawm

(c) AW 3R Menfies smuum favm @
it Fe fasm

(d) i Fam fasm wd s 3em fasm

94. WRA ¥ ygen i s fea ad nfsa e
T o917

(@ 1949
(b) 1950
() 1951
(d) 1952

95. 7 ¥ fren dfeum w1 & @7 w5 91 5
26 SHall, 1950 W WRd I@EQHl
(fvenvma) % Shamerer § wfae & @ a?

(@) o dlo 3o =
(b) SETEATS Ag®

(c) HETH TiEh

(d) THo Ho FEsh

96. 3 A AF TsA1 & di9 Bl REr ¥ o
(Fa) & faofs o i I=aw = f TR
FT FHEAd! 87

(a) JTH AftrmTia
(b) Faiifea (wew) i
(c) wanfior yferERTiEr
(d) GeEHR At
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. 9uEER h nfdE wemEeR Reg (EAC-PM)

1 HEH TH W B 87
(@) TH dlo aree
(b) Tos =i
(c) TR T
() wfe fEta

98, feeran forg 3w A g waeh &7

(a) iR
(b) WG
(c) areTen
(d) T

99. YR Y FM F fomAR Teae Afn

T, il e @ #§ iR A g B o an,
Fel e 27

(@) S 3T FER
(b) STETEA ToW
(c) TAEH

(d) Tew=a wam

100. ¥&H-2, S B @ § Flew § gHemed gan

o1, 1 917

(@) wgrg fomm
(b) RferFiet
(c) aReE oM

(d) wHa-fea (=) SR S
(e TfEe s




93. The Ministry of Heavy Industries and
Public Enterprises consists of

(a) the Department of Heavy Industry
and the Department for Promotion
of Industry and Internal Trade

the Department of Public
Enterprises and the Department
for Promotion of Industry and
Internal Trade

(b)

(c) the Department of Scientific and
Industrial Research and the
Department of Heavy Industry

(d) the Department of Heavy Industry
and the Department of Public

Enterprises

94. The First Delimitation Commission in
India was constituted in

(a) 1949
(b) 1950
(c) 1951
(d) 1952
95. Who among the following stated in

the Constituent Assembly that on
26th January, 1950, India was going to
enter a life of contradictions?

(a) Dr. B. R. Ambedkar
(b) Jawaharlal Nehru
(c) Mahatma Gandhi
(d) S. P. Mukherjee

96. The power of the Supreme Court to
decide in the case of a dispute between
two or more States is called

(@)
(b)
(c)
(d)

original jurisdiction
inherent jurisdiction
plenary jurisdiction

advisory jurisdiction
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97.

8.

99. The

100.

29

Who among the following is the
Chairman of the Economic Advisory
Council to the Prime
(EAC-PM)?

Minister

(a) Ratan P. Watal
(b) Bibek Debroy
(c) Ashima Goyal

(d) Saijjid Chinoy

Hilsa is the national fish of
(a) Pakistan
(b)

(c) Bangladesh

India

(d) Nepal

Vijaynagar Advanced Landing
Ground of the Indian Air Force, which
was reopened recently, is located in

(@) Jammu and Kashmir
(b)
(c)

(d)

Arunachal Pradesh
Karnataka

Himachal Pradesh

Rustom-2, which crashed in Karnataka
recently, was a/an

(a) fighter aircraft

(b) helicopter

(c) transport aircraft

(d) unmanned aerial vehicle
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101. wuW (F91) Fusfy M@ sram, el s, 105. EX FHIvM (1882), & wRa # fian i &ifa

T 3fR egeie Wit A, Rl g A? F wagw A F Ty feifa fmn mn oo,
(@) TR AW s
(b) =% (@ foatem (FfaRiE) e =1 By
Toran
(c) YA
(d) = (b) 1854 H fagf (Gww) = © B
(c) st Rign | =t 5@ (W) 30 ¢
102. ¥Ra ¥ §eig =y 6 @A (Saf) w1 amd 1854 i fagfy =1 wwedw foman
Frfafan & @ e sfufem/smm g e
T u1? (d) Toen % wEE@ SR woeR i e

(@) ¥Ta @R AfafE, 1919 bl

(b) o I (i FhEE), 1923

(c) W@ @R fufam, 1935 106. UYEIEEl % FAET ¥ Halyq @i e W HE
TR 6 s e ga O 27

(d) wda uftg SAiafEm, 1909

(@) WG 6t 6
103. T gy’ & wHw TEEER § 1914 #

a7 (b) T faumve« .
(a) TEEAY FIE (c) T Tyafem smam
) He %o M (d) wa Fafea s
(c) #im T
(d) So dflo ®Y _
107. wRa & wlym 1 114 gy s =
et =t faanfm s 27
104. <& (cfEmr) =1 geUER TS STftenis 9 9

wRdta wu & fre af wfiifaa gen? (@) €9 IR 77 fumrea
(@) 1948 b ke P P 4
(b) 1950

(c) TR T IR d==a
c) 1949
(d) 1947 (d) T |91 3R g=EEd
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101. The maiden trilateral naval exercise 105. The Hunter Commission (1882)
involving India, Singapore and Thailand appointed to survey the state of
was held at education in India
(a) Port Blair (a) deprecated University education

(b) Chennai
(b) overruled the Despatch of 1854
(c) Panaji

() endorsed the Despatch of 1854

d} : Eochi with greater emphasis on primary
education

102. The creation of a Federal Court in India
was advocated by which of the following (d) criticized the grants-in-aid system
Acts/Commissions? of schooling
(a) The Government of India Act, 1919
(b) The Lee Commission, 1923 106. The ?owcr to lelglslatc on all matte':rs _

relating to elections to Panchayats lies

{¢) The Government of India Act, 1935 with

(d) The Indian Councils Act, 1909 (a} the Parliament of India

103. Who founded the ‘Seva Samiti’ at (b) the State Legislatures

Allahabad in 19147?

(c) the State Election Commission
(a) Hridayanath Kunzru

(d) the Election Commission of India
(b) G. K. Gokhale -
() Shri Ram Bajpai
107. The 11th Schedule of the Constitution of
(d) T. B. Sapru India distributes powers between
104. The State of Hyderabad in the Deccan (@) thc. Union and the State
officially acceded to the Indian Union Legislatures

in the year 3
(b) the State Legislatures and the

(a) 1948 Panchayat
(b) 1950 (¢) the Municipal Corporation and the
(c) 1949 Panchayat
(d) 1947 (d) the Gram Sabha and the Panchayat
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108. Y9Ud ¥ GEAGT % HEY A ARG % 9fuE F
ey, Fefafea & & e @ &9 — @

& B &7
(@) WEH (b) Brga
(c) Ew (d) T

109. f=fafea & & Fw-f 7d Fen amm §

oy &7
(@) e (b) H
() A (d) =

110. T Si@ et (YvFe dfE wHeHi/NWA)
el @ &7

(@) <
(b) TR
(c) T

(d) WSHATHT!

111. o9 WA Hd & R A Y AENI F TS
(F) #1 wdt gen F=fafa & 4 $R-w

34

(@) fom sm@w, A M, fRw mm,
Frafem amam

(b) Tatem smim, G smEm, e smm,
e smam

(c) A smam, Fafem smm, fm s,
Faw smm

(@) FEm smm, e smm, Qe @,
Fratem amm
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112. ifgs duar AR’FR (IPRs) & day # Hifa
Freqo (gefieron) foraen aifie 27

(@) fafy @ = dey
(b) Tagm i denfieh fasm
(c) oW iR Al =R gadq fasm

(d) uHa gaE e wEeE

113. @R Ja1 YOTelt % g9 (AYUSH) &g #
TE @ # (Ffan) Fafafea § @ B/ e
T 7
(@) Z
(b) T
(c) @ar-foq
(d T

114, g% TP GO0 HEFH  (TEeS I
TEEEHE W) % fou wra § fefafes 3§
[ 50 s Al (fied i) s=mn &
??

(@) TETERV, 9 TE Seary UREdT wed
(b) Tagm v Prenfieht dae
(c) Y= Togm TaeE

(d) 7§ HATEE

115. 2011 il SHOFT % JFER, ¥Rd § @ &0,
o wareht (sriafte) AT S owehar @ steiq S
A TR A Faw @ o R e wm w

o9 MY g, < gfavraar (S fRa #7
(@ 25% (b) 35%

(c) 45% (d) 55%




108. The provisions of the Constitution of 112. The formulation of policy in respect to
India pertaining to the institution of Intellectual Property Rights (IPRs) is the
Panchayat do not apply to which one responsibility of

of the following States? (a) the Ministry of Law and Justice

(@) Meghalaya (b) Tripura (b) the Department of Science and
(c) Assam (d) Goa ToEnBoNEY
(c) the Department for Promotion of
109. Which one of the following rivers Industry and Internal Trade
does not drain into Black Sea? (d) the Ministry of Human Resource
Devel t
(a) Volga (b) Dnieper S
(c) Don (d) Danube 113. Which one of the following is the latest

addition to the AYUSH group of

: i health care system?
110. The National Water Academy (NWA) is

located at (@) Unani
(a) Dehradun (b) Siddha
(c) Sowa-Rigpa

(b) Hyderabad
(d) Reiki
(c) Bhopal
114. Which one of the following is the nodal
agency in India for the United Nations
Environment Programme?

(d) Khadakwasla

111. Which one of the following is the correct
sequence of formation of the
Commissions starting from the earliest?

(a) The Ministry of Environment,
Forest and Climate Change

() The Ministry of Science and

(@) Finance Commission, Planning Technology

Commission, Investment Commis-
sion, Election Commission (c) The Ministry of Earth Sciences

(b) Election Commission, Planning (d) ‘The Ministry of Home Aflees

Commission, Finance Commission, 115. According to the Census 2011, in India,

Investment Commission what is the percentage of people

(c) Planning Commission, Election (approximately) considered to be
Commission, Finance Commission, migrants (internal), i.e., now settled in
Investment Commission a place different from their previous

residence?

(d) Investment Commission, Finance " i
Commission, Planning Commis- (@) 25% (b) 35%
sion, Election Commission : (c) 45% (d) 55%
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116. "H Wfifg % % Ff a9 a9 7t & €400
yiafes wareh B1 3@ Tl & w we F Imn
(FifeR) & w9 § wE w1 wife fiem R,
W& 30 Wi €700 H = ¥ yEw fEw
ST | 98 FN 7R F w9 F § w8 w@ @
F AN ¥ FN Ao A R wra (Rreew

arma) Frefafaa & @ PSR- 27
(@ €1,100 (b) ¥700
(c) ¥400 (d) €300

117. G-I # -1 & wy gafa AR sk
gt % 2 Ry T g2 w1 @i W oad sw
e :

-1 E-11
(SR E=E=T) (fardram)
A i st 1. v Rm (awg) 9 ek Faa
T 391 R v st

B. TsHIfteR 2. - AYA YHE: GEEY
(Thritraea) Il A s F I
g foram s

C. uwiftga 3. faufeq seuet it fosht wgar-
yfeaifar 9 ITEH! gRI R st

D. ¥FeqiteR 4. TH-I It ) o) wiga-
(snfeiatett) ¥ Ieareshi g o s

®e:

oA B ConD
. Y T

TR RS e, EaR
o A el

o R e D
g 7 Peaigeilis

A S BRC D
TORPE. T, e
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118. Ry wm Rem (3 Wew ), 2019 =

woraH, Frefafaa ¥ S9-w 2w 9r?
(@) Fo THo Qe

(b) W4

) ¥4

(d) HATEl

119. foaa wem (BRICS 4fiz), 2020 & Femmr

e gr1 A smoh?
(@) W@
(b) =
(c) ®§

(d) Wi

120. ¥R WK 3 B & § WIR GgNTE TE ¥

I R T 8w R fda (weuriia) fran
?1 98 TR frm &9 o Qvem ¥ fog 7

(@) ¥ h THar AR r@ved
(b) e IR el
(c) W HE

(d) Saferar




116. Suppose an agricultural labourer earns 118. Which one of the following was the host
¥ 400 per day in her village. She gets a country for World Tourism Day, 20197
job to work as babysitter in a nearby
town @ ¥700 per day. She chose to

: . (a) USA
work as agricultural labourer. Which

one of the following is the opportunity

cost of the agricultural labourer? (b) India
(@ ¥1,100 (b) T700 () Russia
(c) ¥400 (d) €300

(d) Canada
117. Match List-I with List-II and select the
correct answer using the code given

below the Lists :
119. BRICS Summit, 2020 will be hosted by

List-1 List-IT
(Market (Characteristic) 1hdi
structure) fo)’ Mhdin
A. Perfect 1. Only one producer :
competition selling one commodity (b) China
B. Monopoly 2. Few producers selling
similar or almost similar (c) Russia
products
C. Monopolistic 3. Many producers selling (d) Brazil
competition differentiated products
D. Oligopoly 4. Many producers selling

similar products X
120. The Government of India has recently

Code : constituted a civilian award in the
name of Sardar Vallabhbhai Patel in

(@ A B C D the field of contribution to
4 3 1 2
b) A B c D (a) unity and integrity of India
4 1 3 2
(b) art and culture
(c) A B C D
2 } B i (c) social work
(d A B C D
2 3 1 4 (d) entrepreneurship
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